1.

]

After issuing identity card under the ‘Camel

Protection Scheme’, how much amount will be paid
as the first installment to the camel rearer -

(A) Rs 2000

(B) Rs.5000

(C) Rs 8000

(D) Rs 10000

According to the Rajasthan Handicrafts Policy-
2022, where is the Handicraft Design Center
proposed to set up -

(A) Jaipur

(B) Jodhpur

(C) Bikaner

(D) Udaipur

According to the report of National Family Health

Survey-5, Rajasthan is at top position in the country

*mmwﬁm'%mw-ﬁﬁﬁﬂiﬁ%
o o e ) wem fv & w0 A Tt afe @
-

(A) 2000 794

(B) 5000 &7

(C) 8000 T

(D) 10000 T74

T B Si-2022 % AR SrEER feeE

Fex 7 TG ] FR S i €

(A) S

(B)

(C) FFrr

(D) =g

Ayt Wit ded -5 w9 F SR TAEE
ERA TN A FA Y W H T WA W I E

in providing health insurance. About what T foRe shovm Siar ) @ 9w g
percentage of the families of the state have the T -
facility of health insurance?
(A) 70 percent (A) 70 Wit
(B) 80 percent (B) 80 Wit
(C) 90 percent (C) 90 wfrem
(D) 60 percent (D) 60 wfyr
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4. Recently Chief Minister Ashok Gehlot inaugurated
Babasaheb Dr. Bhimrao Ambedkar Library in which
university?

(A) University of Rajasthan (Jaipur)

(B) Maharaja Surajmal Brij University (Bharatpur)
(C) Jainarayan Vyas University (Jodhpur)

(D) Maharshi Dayanand Saraswati University
(Ajmer)

Which innovation of Rajasthan has received the

[103M]

o e T A T,
sEeeR eI A @ A 6 favafiery
# fa B-

(A) T forvaforanerd (S0

(B) e el 7t favaierierd ($Rgo)
[C)meﬁmﬁﬂm(aﬁwg{)

(D) el T T favafaard ()

T % T TaTaR @ §-TaE 40T 6 R s

Scotch Gold Award in the e-governance category? 37ETS WH o 8-

(A) Jan Kalyan Portal (A) T W

(B) Raj Kaj Portal (B) T=aIS G

(C) Single Sign On (SS0) (C) ferer wm i (SSO)

(D) Sujas E-Bulletin (D) gwra € Feife

Famous player of Rajasthan, Bhavna Jat is related T 1 WG Raerel e e w1 gy e wa
to which game? q 2-

(A) Boxing (A) FeeRal

(B) Fencing (B) HeramaTst

(C) Race walk (C) g dfw
(D) wrestling (D)
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7.

10.

Sort out the mismatched-
(A) Timangarh Fort - Kargyl;
(B) Basantgarh Fort - Sirohj
(C) Kalakh Fort - Jobner
(D) Kakod Fort - Dausa
The famous Beneshwar fair of Rajasthan takes place
in which Month of Hindu calendar?
(A) Karthik
(B) Chaitra
(C) Falgun
(D) Magh
Thamanyo, Thust ornaments are womn-
(A) in the hand
(B) on the throat/gorge
(C) on the head
(D) in the ears
‘Mediya’ is the main character of which of the

following plays?

7. srgfea = wifee-

(A) frerg i - et
(B) g g - et
(C) era g - S
(D) Frrg g1 - <

8. YT Wi Ay Her fewg i % fene wE A

T R?
(A) Ffies
(B)¥7
(C) wreTd
(D) ==

9. omud), FE ST TEH W §-

(A)zgd
(B) %78 H
(C)fm=
(D) ®Fi |
10. frr ¥ & forw o o e w Afgm e -

(A) Turra - Kalangi Khayal (A) T - =t =

(B) Hela Khayal (B) &= @@

(C) Ali Bakshi Khayal (C) et =t T

(D)Kanhaiya Khayal (D) w4 &=
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I1. Baneda, Bagaur, Begun, Kelwa belong to which 11. g, Cluire a’i e i foshm o frg 'Fﬁa
‘school of painting’? sif e & foehfem B3 -
(A)Mewar school (A) Ferg et
(B) Marwar school (B) AT Wl
(C) Hadoti school (C) it et
(D) Dhundad school (D) %31 ¥ell

12.  Various types of artistic marks are made on the | 12. T % uye @ e & TR TR W fafyy
body of animals for their identification in TR & FHrE g W % | <7 Wi a8 T
Rajasthan. This process of stamping is ..... and ..., TG & PRI ...... AR €
marks are called ..............
(A) Aterna, Godlia (A) e, TSfer
(B) Mandana, Godlia (B) AN, Mefea
(C) Godlia, Atterna (C) Tirsferan, s
(D) Godlia, Mandana (D) Tirs e, Arsen

13.  Which of the fnilowing is not correctly matched- | 13. FeAH ¥ wel hfem 1 &-

Sect - Founder e TS
(A)Rasik sect - Agardas ji (A) 1o Toverm aTer ot
(B) Niranjani sect - Navaldas ji B) Fieft oo TeeEm
(C) Alakhia sect - Lalgiri (C) refem ToRE AR
(D) Pashupat sect Lakulish (D) W EIEE et
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14. Who is known as father of journalism in | 14, o & v @1 Hefms & e s §-

Rajasthan?

(A)Karpoorchand Kulish (A) FYTIT Fiew
(B) Jabarmal Sharma (B) g ¥
(C) Komal Kothari (C) wre e
(D) Srilal Joshi (D) Sreme st

5. Which one of the following is not included in | 15. 1% @ Fager west & fire e & -

Panchkuta vegetable?

(A)Ker (A) |
(B) Sangri (B) Wil
(C) Khimpoli | (C) fateit
(D)Kumat (D) T

16. Which of the following is not correctly matched- | 16. =1 # & wet yhfem == 8-

Dialect - Area At &
(A) Jagrati - Karauli (A) st - wieh
(B) Nagarchol - Jaipur (B) AT - MR
(C)Deodawati - Sirohi (C) Tgmard - fRE
(D) Dhati - Barmer D) T i
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17 In which language Sant Chatur Singh Bavii | 17. ¥ e ffe e 4 97 WIS SR g
compose the books  Yogasutra’, ‘Bhagavad gita’ and wifermfin! 7 i T P17
‘Sankhyakarika'?
(A) Marwari (A) AR :
(B) Mewari (B) et
(C) Wagdi (C) Tt
(D) Shekhawati | {D}ﬂ@ﬁﬁ
18. Poetry depicting the form of achievements of | 18. e 9w st =1f® fergry <1 m&aﬁ’r F T B
dynasty or a particular person is called- YT TR e wee 8-
(A) Vigat (A) famm
(B) Siloka (B) fciiam
(C) Rupak (C) &7
(D) Vel (D) 3
19. Which of the following is not a composition of | 19. = % & iwet Ta Frearam e =1 T8 ¢-
Kanhaiyalal Sethia-
(A) Meenjhar | (A)Tism
(B) Leeltans (B) wiered
(©) i)hani Dhora Ri (C) bt bR @
(D) Pagfaro (D) Wi
Download Answer Key PDF
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20. Match List- with List-1] - 20. TE-1 % gE-1I 3 ifer T -

List-1 List-I1 1 -1
(Book) (Author) (7&) (i)
(1) Mugti (i) Mitesh Nirmohi (1) Tt (i) ow et
(2) Sanskriti i Sanatan Dith(it) Bhanwar Singh (2) st & w48 (i) TR e £LeiD
Samour
(3) Mati ri Mehek (i) Karnidan Barhath Gy dTEs (i) FEH A
(4)BarkBaat  (iv)RamswaropKisan |  (d)amam (i) TR e
M @ 6) @ 1N @ 6G) @
(A) () (1) (i) (iv) (A) (@) (i) (i) (iv)
(B) (iv) (i) (@) (iii) . (B) (iv) (i) (i) (1)
(©) (@) @) (i) (i) (€) (i) (@) (i) ()
(D) (i) (1) () (i) | (D) (i) () (iv) (i)

21. From which ofthe fallnvdﬁg ﬁlac&g dyeing-printing | 21. fr= ¥ 9 T T A 30 QT - B wEEE W

business has been inferred from stamps? AT T T 2

(A) Kalibanga (A) whreitsm

(B) Aahad - (B) s

(C) Ganeshwar (C) TorFR

(D) Balathal (D) wreie
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22. Where did the coronation of Maharana Pratap take

23.

24,

place?

(A) Chavand

(B) Gogunda

(C) Kumbhalgarh

(D) Rajnagar

Which of the following political agent is not

carrectly matched with princely state at the time of

1857 revolt-
(A) Mewar - Major Shawers
(B) Sirohi - J.D. Hall
(C) Bharatpur - McMason
(D) Jaipur - Col. Eden
Which new battalion was formed in 1921 AD by
abolishing Deoli Regiment and Erinpura
Regiment?
(A) Bhil Corps
(B) Meena Corps
(C) Garcia Corps

(D) Tribal Corps

27 mewﬁﬂﬁm gan?

23.

(A) TTavE

(B) M=

(O 3T

(D) T=AR

1857 Fi whifd & WA T % foardi | waifig
wiferfesha Tove e &-

(A) Farg - o v
(B) fdiet - 3.1, wfm
(C) g - HepHH
(D) AR - Ffet §e

24. 1921 % # Sei e Sl oo e e

e e i =1 e favey mam?

(A) =R
(B) ¥ion =R
(C) mifEm =R
(D) sfeamst H:R

[103M]
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25, Under whose chairmanship was the Marwar Lok | 25, Hware yemdee aie
Parishad formed in 1938 to give impetus to the frgat aeAwa A ARG e SR, 1 T L
Marwar Praja Mandal movement? ™7
(A) Jaynarayan Vyas (A) STEARTEY AT
(B) Bhanwarlal Saraf (B) saeTe TP
(C) Ranchod Das Gattari (C) TroTg TH T
(D) Karpoorchand Patni - (D) ®YEE AT
26. Matsya Union merged with Greater Rajasthan in | 26. Weed §® &1 ggq TS § o Tt % 7
which phase of integration? 0 H g7
(A) first (A) wgH
(B) fourth (B) ¥gd4
(C) fifth (C) 9=
(D) sixth (D) 7=

27 fg § @ frad fasittera ¥ fIRER B0 999 98 Fa1

27. 'Who among the following said while being
fip ' T RROMI T ST AT TET €1, 9% 98

arrested from Bijolia that “She will keep coming

here until the atrocities on the farmers are stopped.” et @' -

(A) Anjana Devi Chowdhary (A) sieF <t =i

(B) Ratan Shastri (B) T WAt

(C) Rama Devi (C) w1 gat

(D) Janaki Devi Bajaj (D) Wl 3eit &
[103M] Page 11 of 48
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8. Which coalition forces fought against the Marathas | 28. T 35 (1787) o i i W‘Fi'qﬁ
in the Battle of Tunga (1787)? &l A 4% T
(A) Sisodia-Rathore alliance (A) Fesifean- Bt Taw
(B) Kachhwaha-Sisodia alliance (B) Frewarer - feiifea mody
(C) Rathore-Kachhawaha alliance (C) TRIS - FH=odTe] TIaL
(D) Kachhwaha - Jat alliance (D) FHegarel - W T
29. Kilhorn praised the learning of which ruler and | 29. Frere % o wreres % g =t Wi =y BWam
said that he was one of those Hindu rulers who s o 57 fog Wil @ T I o1 0 firey
could compete with Kalidas and Bhavabhuti? Sl aeffi 1 B1g T Th 917
(A) Prithviraj Chauhan-III (A) Y FeH-Tdg
(B) Vigraharaja-IV 3 (B) fomear-agd
(C) Rao Lunkaran Rathore (C) T Tvrehv] g
(D) Rao Maldev (D) 7@ W
30. Who led the Doodhwakhara Kisan Andolan? 30, gyATE e SAiSer # yd e e
(A) Kumbharam Arya (A) R T
(B) Hanuman Singh (B) &9 e
(C) Mathuradas Mathur (C) RYUE™ g
(D) Dwarkadas Purohit (D) sRERH Ffed
31. Patta rekh meant- 31, wEItE ¥ s o
(A) Begar . (A) 3R
(B) commercial tax (B) arfinfeass =
(C) military tax (C) Tg o
(D) Estimated revenue (D) iefera o
oM Page 12 of 48 oot
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32. ﬁﬂﬁﬁﬁﬁmaw%mﬂﬁwﬁﬁ?

Which of the following is not related to the

excavation of Bairath Civilization?

(A) Dayaram Sahni (A) TR T
(B) Neel Ratna Banerjee (B) fret 71 WA
(C) Dr. Vijay Kumar (C) &, faera FAR
(D) Kailash Nath Dixit (D) ey e

When was camel declared as state animal of | 33. 32 ! UM @ T4 W] 9 T34 71 ?

Lad
Y

Rajasthan?
(A) 10 June , 2015 (A) 10 9, 2015
(B) 16 July, 2014 (B) 16 T[T, 2014
(C) 19 September, 2014 - (C) 19 faama, 2014
(D) 18 November, 2015 (D) 18 7a%=R, 2015
34 Choose the incorrect statement in reference to the | 34, ¥ Tt wedt Iomm T2 Frern & el & o7
Indira Gandhi Urban Employment Guarantee Y 87
Scheme?
(A) This scheme started on 9th September, 2022. (A) g8 drr 9 e, 2022 I TFER |
(B)Its nodal department is the Local Self (B) w1 Arga favm @ e fasm @ |
Government.
(C) 150 days employment is given to the people (C) &t &% ¥ framea @l #1150 fF =1 T9R
fem s ¢

living in the urban area.

(D) A budget of 800 crores was allocated for this (D) T+9 TR 5 39 £ 800 HUS F1 9 I 1eq

Teman |

by the state government.

[103M] Page 13 of 48
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35. Where is the Maize Research Center situated in | 33 e i

Rajasthan?

(A) Dungarpur () T

(B) Udaipur (B) 3%X

(C) Pratapgarh (C) ¥

(D) Banswara (D) e
36. Which of the following is not correctly matched - 36, fae 1 @ argHfer 1 T oI -

Player - Game feaeret wd

(A)Gauranshi Sharma- Badminton (At 3 e

(B) Abhinav Sharma- Baskétball @) sfFa v AR

(C) Manini Kaushik - ~ Shooting () whrtaifoes Pt

(D)Yuga Chelani - Swimming - (D) 1 =@t GEEal
37. Harihar temple where the combined form of Lord | 37. smar faeg 3 fyra % wfea &9 4% et it Fel

. “Vislinu and Shiva is engraved situated at which fem®?

place?

(A)Jhalrapatan, Jhafawalr (A) FTERITEA, JIeaTg

(B) Mount Abu, Sirohi v (B) WIS &7, ft s

(C) Osian, Jodhpur (©) ﬁﬁlﬁ, ?ﬁ*TEH

(D) Pushkar, Ajmer (D) T=, S e
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38, Match List-I with List-I] - 38, 19 e 11 R i Fife -

Industry Location Fum b
(A)Birla White Cement 1, Sikar A frsmmme e 1. W
(B) Semcor Glass Industry2. Udaipur (B)FER M TEE 2. FAH
(C) Hindustan Zinc Limited3. Dholpur (C) fogm o fafiies 3. ot
(D)Pyrites Phosphate and 4. Jodhpur (D) TTEE R S 4. U

Chemical Limited i fafies
Code < -

(A) B) (€ @) @4 ® © O
a ¥ 2% 4 a 1 2 3 4
B 2 1 4 3 - ® 2 1 4 3
(€ 3 4 1 2 Cc 3 4 1 2
4 3 2 1 ® 4 3 2 1

39, Who among the following is the Returning Officer | 39. Frefeifan & #i faarras i & faurmw &

for the Constituency in legistative Assembly % fore gma afierdt Bt 72

elections?

(A)Divisional Commissioner (A) HHPTE A
(B) District Collector : (B) forem Feteet
(C) Sub-Divisional Officer (C) 3vavs st
(D) Tehsildar (D) Tt
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40. The plai i f- iy 40 mﬁﬁaﬁm%r
- Ihe plains of Mewar is part N i — (B)IITE'i PO
(A)Banas Basin ~ (B) Mahi Basin
; — (C) TE=a Mm@ (D) afé =1
(C) Chambal Basin (D) Luni Basin .‘
41. According to Koppen's climate classification, | 41. I #WEE“W*WW T ey
which climate region gets maximum rainfall? ifos 7 ST 1 €7
(A) BShw (BYBWhw (A) BShw () By
(€) CWg (D) Aw (C) CWg (D)Aw
42. Tungsten is produced in Rajasthan- 47, TR § A T S Bl -
(A) Didwaria (B) Makrana (A) Stsar (B) 7
(C) Degana (D) Parbatsar (C) &I (D) RATH
43. The mismatched pair among the following is- | 43. Frefefian @ svgfem g -
(River) (Dam) () (a4)
(A) Banas - Bisalpur (A) w4 - fameg
(B) Kothari - Meja (B) HieRt -~ Ha
(C) Mahi - Kagdi Pickup €) W R T
(D) Chambal - Jaswant Sagar (D) o=@ e
44, Rajasthan holds the maximum forest area? 44, TRYA ¥ iy 99 SR a0 S0 T 22
(A) Udaipur (B) Karauli ®) — BTt
(C) Alwar (D) Baran © ﬂ?lﬁﬂ Oy
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45, Which wildlife sanctuary/national park is famous | 45, FiFE T FYARTARTE T Wik red e & Tl

for blackbuck and kurjan? & fou e 87

(A) Ghana Bird Sanctuary (A) w1 ueft fareme

(B) Talchhapar (B) TErETR

(C) Sitamata Sanctuary (C) Htamm S¥ERd
(D) Sajjangarh Sanctuary (D) FwuriTg MR

46. The mismatched pair among the following is- | 46. fretfefn 3 & srgifem I t-

(Soil Type) (Concerned Districts) (Frdtmwwr) (et fae )

(A) Vertisols - Jhalawar, Baran, Kota (A) TéEew - TS, W, e

(B) Inseptisols - Jaisalmer, Jodhpur, @) vREEE - SR, g, e
Bikaner

(C) Alfisols -Alwar, Bharatpur, Dausa (C) FehEe - SR, A, T

(D) Aridisols - Sikar, Chuy, Jhunjhuny |~ (0) GEEew - ¥, 9

47. Which of the following is the first super thermal | 47. frefafag # | e ToRH & J99 R 9>

power plant of Rajasthan? R T ¥2
(A) Kota (B) Suratgarh (A) F& (B) §@Te
(C) Chhabra (D) Giral (C) ==% (D)=

48. Which of the follqwing is ngt an improved variety | 48. fefafas & @ e’ % 399 fm & &-

of 'rice'?

(A) Mahi Sugandha  (B) Chambal (A) = grien (B) ==

(C) Basmati (D) Mahi Kanchan (C) arEwit (D)= 1
[103M] ' ' " Page 170of 48
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19, O] 2011 3 SR TSR WS 3 7y

49, According to Census 2011, the districts having
highest and lowest population density in Rajasthan

are respectively?

(A) T, FFER (B) TR, HTR
(C) e, =TT (D) AR, TR

(A) Jaipur, Jaisalmer ~ (B) Jaipur, Dholpur

(C) Dausa, Bikaner (D) Bharatpur, Jaisalmer

50. Bhil men wear a cloth on their head to cover their | 50, e Tow o1 ol @i g & foit firt w ot oy
hair, what is it called? TET €, 39 4 Fel 67
(A) Kachabu (B) Turban (A) o (B) 78t
(C) Potya (D) Khoytu (C) dem (D)@

51. The name of the traditional rain water harvesting | 51. SErR ¥ 9reftare sl g1 faefaa wrafis i

method developed by Paliwal Brahmins in W@ 949 G AW -
Jaisalmer is-

(A) Bawdi (B) Tanka (A) ot (B) zi
(C) Johad (D) Khadin (C) vieg (D) &EEH

32 The headquarters of North-Western Railway is | 52. Sot-fyem o % qeamerd fem §-

located at-
(A) Jodhpur (B)Kota (A) g (B)F=
(C) Udaipur (D) Jaipur (C) 3EaR (D)vgR
53.  When is 'Maru Mahotsav' organized? 53. "R WRIea' o ST e foe s &7
(A) January - February (B) March - April (A) &l - Wl (B)w - ani

(C) May - June (D) September - October (C) 7§ - B (D) figmrea - SR
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54, Ms-Word, Winzip, Pagemaker etc, are the example | 54. Ms-Word, Winzip, Pagemaker anfe fraes FeET
o ¥
(A) system software ( A]ﬁi’&'ﬁ FRR
(B) Application software (B) Tt T
(C) web browser (C) A AR
(D) search engine (D) T 5
55. Choose the mismatched from the following? 55 Fret ® @ o W g Hifed?
(A) Website Address- URL (A)Fawrge 1 - URL
(B) Maintains web pages in the form of directories (B) 3= i =t Fréfira @ e % 9§ TEd 8-
and files - web server a9 FH
(C) Accesses the user to the Internet - Web browser (C) 374 T TR T qﬁi‘l?ﬂ - 99 A
(D) Language used to develop web pages- C- (D)@ il =1 farwfaa FE H FH A T -
language C-eimae
s6. Which of the following is not an input device? | 56. T & & Il TF ¥ IR T &2
(A) Digitizer (A) fesiterssr
(B) Stylus (B) ¥rerd
(C) mouse pad (C)wrss ¥
(D) microphone (D) AT
57. Who is the father of super computing? 57, {R HEfen & fom 27
(A) Alan Turing (A) T i
(B) Seymour Cray (B) & sh
(C) Charles Babbage (C) e Sfar
(D) Team Burns Lee (D) Zrwad it
[103M] Page 19 of 48
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S8 To ascentain the authenticity of the identity of a | 38 e & Mo A HER A KR wﬁﬂara ot %
PErson communicating or transacting through the S e
Internet is called?
(A) integrity (A) T
(B) Piracy (B) et
(C) Secrecy (C) forem
(D) Authentication (D) ST
59. In which session free admissions in private School | 59. TS¥ ¥ fireft feremerdl § s % qed 1.0 way
under RTE started in Rajasthan? &d | e R e
(A)2012-13 (B) 2013-14 (A)2012-13 . (B)2013-14
(C) 2014-15 (D) 2016-17 (C) 2014-15 (D) 2016-17
60. The program brought recently by the Government | 60. I T A G A Ard ) Wi o o e €
of Rajasthan to recover the learning loss during the ¥ Y YR G AT T FHAEE §-
Corona period is-
(A) Mission Samarth (A) firer gmet
(B) SIQE (B) SIQE
(C) CALP program (C) 9 FrEwH
(D) Progress field in education of Rajasthan (D) o % Toen # wgd wen
61. Who acts as chief advisor of the development | 61. SIQE Frishq & H&I WemedR & w9 § Fiien &1 W
program made by UNICEF and Bodh Shiksha i 9 Aty e wfirfy gr0 syeres swam wm 2
Samiti at the district level?
(A) District Coordinator (A) Toren gvg7+
(B) District Shiksha Mitra (B) foren foren firg
(C) District Support Fellow (C) foren wrde v
(D) District Academic Group (D) forem RIS FE
[103M] Page 20 of 48

Scanned with CamScanner



—

62,

63.

64.

__‘---_‘--h_

Under Section-27 of e Right to Free ang

Compulsory Education Act 2009, no teacher can
be deployed for which work?

(A)Pulse Polio Campaign

(B) Census

(C) Disaster relief

(D) Lok Sabha elections

Amendment in which section is made in the year

2019, to hold back the child in Sth class and 8th
class if he fails in the re-examination?
(A)Section 16

(B) Section 19

(C) Section 23

(D)Section 25

Under section 29(i) of the RTE Act 2009, the
educational authority of the Central Government
will be -

(A) NCTE

(B) NUEPA

(C) NIOS

(D) NCERT

62,

63.

64,

97 e arfard fen  rfven sfufm 2009
) YT - 27 % S T T steATaes 6 T @
¥ for Fraifom €1 foven 1 e 2

(A) To8 il S

(B) &9 9T SOl

(C) =me] T

(D) TireFEH g

2019 F for 0§ WU BT ew 5 9 el 8
A 1 T T S g T w
wEyH fean ™ ?

(A) 4TI 16

(B) 111 19

(C) Hm 23

(D) um1 25

RTE ifrfam 2009 = T1 29(3) % &7 75 TR

1 W ittt & -

(A) NCTE
(B) NUEPA
(C) NIOS

(D) NCERT

[103M]
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65. Inwhich part of the Rajasthan Right of children t0 65. o fged A E|T~ﬂ fen =1 arfiy
free and compulsory education rules - 2011, the e - 2011 3 ferg W ToeITer @ ST o5
responsibility of the school and the teacher is Tt 1 90 ¢
mentioned in -

(A)Part - 4 (B) Part-5 (A) ¥ -4 (B) T =5
(C)Part - 3 (D)Part- 6 () W -3 \Bp=S

66. The ex-officio secretary of the State Advisory 66. T Fig® T aifard 3T e 1 i
Council constituted under rule 18 of the Rajasthan e - 2011 3 18 % 0 Tod T Hefeshn
Right of children to free and compulsory education qﬁqq%; TeA e Hiad wm -
rules - 2011 shall be -

(A)Director,, RSCERT (A) fr¥s RSCERT
(B) Commissioner, Elementary Education (B) =g, Wit fen
(C) State Project Director, Samagra Shiksha (C) T4 witarer frewres, T fasn
(D) Chairperson, State Commission for Protection (D) #tAY, T a6 ATHHR T S
of Child Rights
67. At present, which committee is constituted in | 67. oM o Torym § wa1 9 F 12 % faafdai = St
Rajasthan to improve the educational quality of TrE H QYR T fererd wai & faw g
students of classes 9 to 12 and to conduct the works ST % Weer ¥ o w5 e fem wm
related to the development of the school building?
(A) School Development Committee (A) fererera famra wfufy
(B) School Management Committee (B) foremera worem ity
(C) School Development and Management (C) farerera farg S Y wfi
Committee
(D) School Advisory Committee (D) firerer T g
[103M] Page 22 of 43 -

Scanned with CamScanner



——

68.

69.

70.

e

According to the Nationa Education Policy 2020

by which year achieving universal foundation

literacy and numeracy in primary schools is

the top
priority?
(A) 2025 (B) 2026
(©)2027 02050

Under the Rajasthan Free Uniform Distribution
Scheme, which was started on 29 November, 2022,
2 sets of school dress cloth are given to the students
of which class of government schools?

(A)Class 1to 8

(B) Class 1 to 10

(C)Class 3 to 10

(D) Class 1 to 12

Under the *Balika Protsahan Yojna’, how much is
the prize money for girls who have secured more
than 75 percent marks in class 12 given on the
occasion of Basant Panchami?

(A) Rs.3000

(B) Rs.5000

(C) Rs.6000

(D) Rs 10000

08.

69.

70,

g e Aifi 2020 % SrgaR wafi faererd
firm 1 A QIS STYRYA WERA 9 Fed e
e aaT waE Wt €2

(A) 2025 (B) 2026
(C) 2027 (D) 2030

29 Ay 2022 i Y6 1 T T M0 JHwiH
forerl FrrrnTa e fommerdl & feg we o &

BE-DTE I 2 T U B FIG < §?

(A)Fen 138

(B) F&1 19 10

(C) e 3% 10

(D) #&1 13 12

el Were Ao S5 12 F 75 wfom |
Fifirer Sidh TRl ATTeERIa Bl AT & S R
o8 [WERR Ut et 22

(A) 3000 T
(B) 5000 T13
(C) 6000 TF

(D) 10000 T3

[103M]
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e g g § g & -9 T T

71 In which age ability of reasoning as well as problem | 71.
solving develops in a child - e 1 o 1 1 &
(A) 6 years ()67
(B) 8 years (B)8
(C) 10 years (C) 10
(D) 12 years (D) 12 ki
72. Who propounded psycho-social theory of | 72. wrramaifems: fawra % fagr & it ¢-
development-
(A) Lawrence Kohlberg (A) ¥ e
(B) Eric Ericsson (B) ufe wie
(C) Yuri Bronfenbrener (C) Zh ATHTaT
(D) Jerome Bruner (D) form
73. Choose the incorrect statement regarding operant | 73. ®hi=R g1 Wfauiea firan W@ e 3 ¥9in 5=
conditioning propounded by B.F. Skinner - FYA |-
(A) R-5 Bond is developed in this phenomenon (A fagd R-saveFm 2|
(B) It supports the concept of Reinforcement (B) 9% YdwH I @R 9T 9 ¢ & |
(C) It is also called instrumental conditioning/ (C) T T Srqav/sf o wd ¥
learning
(D) It is related to gestaltism (D) 9% TreTeears | watm # |
[103M] Page 24 of 48 Yy
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-y leaming is not -

(A) A personal ang sogig) Process S
B) Relativ (A) & =fwm 1 wmifas whieg
{ V€ Permanepy change in behay;
ior _

(C) Instinctive behayjo; (B) rrem  ardsrgpa v wftert
. C
(D) Transferable Process (C) 7= o =raeR

(D) T ity whiwa

75. Who has given Driye Theory of Mofiyge
Ivation -

75, sfen & of % )
(A) W. Mc. Dougall 3fte fagr % wfioes &

(B) Clark Hull o
(C) Freud .
(D) Harlow :—z:

76. “Personality is dynamic Organization - of

76. "=t wirfees wreeenst #1 T e € W)

psychomatic systems which determine a person’s

AR & W Yd TR w5 Ry g # )

unique adjustment to the environment.” This a8 qitvm femem < 2-

definition is given by -

(A) Allport (A) e
(B) Cattle (B) e

(C) Freud (C)rms

(D) Murray s

Hﬁgh_nﬁ : = Page 250f48
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77, i e A o ST TS §-

7 Army Alpha Test in Intelligence Tests is -

(A) Personal Verbal Test (A) afioTa e e
(B) Personal Non Verbal Test (B) =fTa s I
(C) Group Verbal Test (C) wrfeas Tfeaeh THE

(D) Group Nonverbal Test (D) ‘ﬂﬂfﬁﬁ aTyTeEe WA

78 The book “Principles of Psychology™ is given by - | 78. “Principles of Psychology” &5 & TEw B-

(A) Wudnt (A)q=
(B) James (B) S
(C) Watson (C) amewd
(D) Skinner (D) @i

79. People of which IQ level can be termed as trainable- | 79. e 1Q = & =i =t ' wiwem"! foan wn wam &-

(A) All lower than 20 (A) 20 9 1 g+t
(B)201035 (B)209 35
(C)35t0 50 (C) 359 50
(D) All lower than 70 (D) 70 | 1= it

80. Most quarrelsome boy of'a child becoming a boxer | 80. w1 & T w23 e} Ot wrers TR T

indicates which ego defence mechanism- T w1 e 1 = ol s e 2
(A) Repression (A) T

(B) Sublimation (B) Seritwtm

(C) Projection (C) wegy

(D) Withdrawl. (D) vem
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Al The graph between mumerlm : A7 & HA TR B
1 ‘ ocity at a [ 81, firem FEaATT W HAT AU
fived mass will be-
P P P P
(A) (B) k (A) (B) K
v oW V v
P P P P
© (D) v ©) (D) \/
% v Vv v
§2. Themass of an object is 10 kg, Its weight on earth | 82, e w¥g %1 &AM 10 kg ¥ | 97t T 3EH R T~
will be-
(A)98N (B) 98 N (A)9.8N (B)98 N
(C)980N (D) 9800 N (C)980 N (D) 9800 N
§3. 14 degrees Fahrenheit is equal to how many 83. 14 feift wiierse frmt feult Shie & =0er &-
degrees Celsius?
(A)-20
(A)-20 i
-10
®) (C)+10
(C)+10 D) 420
(D)+20
_RR,
R, R, _— 8. R_R +R 3 o e §-
B REe p_ formula is the indicator of- i
1 2
(A) Soitsem Farem
(A) Series combination ®) c
YHIRR 79 He
(B) Paralle] combination
(C) SR 3 e
(C) In both the above combination
(D) 3w & |+ 7
(D) None of the above
o
[103M) Page 27 of 48 T
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85.

86.

87.

A beam of light s incident through holes A and B
of a box and emerges out through holes C and D
respectively, as shown in the figure. Which of the

following could be inside this box?

Ci=—
—+B
Di==
Box

(A) A rectangular slab of glass

(B) A convex lens

(C) A concave lens

(D) A prism

The unit of rate of flow of electric charge is-
(A) Volt

(B) Mho

(C) Ampere

(D) ohm

Consider the following-

1. Refraction 2. Reflection 3. Diffraction

Which of the above events are necessary for the

formation of an image in a mirror?
(A) 1 and 2 only

(B) 2 only

(C) 1 and 3 only

(D) 1,2and 3

8.

86,

87.

formi & amafe g A C aen D forgi A e e
%lﬁﬁmﬁ;,ﬂmﬁqﬁqﬁgﬂﬁﬁﬂﬁiiﬁ%?

_—_—_:.'A

C__*.——

—(B

Dl ——

I
(A) T T T SRR 1
(B) TF 3% T
(C) T e
(D)= f5=
TefE Y & WaTE H U A ¢
(A)F=
(B)w!
(C) Tt
(D) &M
Freifafes = faar Sifaa-
1. 99E 2. WA 3. fEE
<4 & whfe & o & foe sl § @ S
AL ETEF 6-
(A) Faw | 71 2
(B) %aw 2
(C)%aw 1791 3
(D) 1,2 3R 3

[103M]
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fﬁ:l__' s the maxi o
Q8 What 18 mum resistance that canbe chade usmg

8. mmm,faﬁmmﬁﬁu-}n % o TwE

five resistors, each of which has 3 rec: 1
resistance of —
Enfsm 0k fera aftrapae ey 7 1 F B-

A) R
(A)5 (B) 100 (A}Slﬂ (B)10Q
0)s5Q
©) D)1 ©)50 (D)1Q
9. The speed of sound, its wavelength ang frequency | 89, eafy wt wrer, TER TR aen R F T -
are related to- (where the signs have their ysyal (& el o W #4 2)
meaning)
(A) v=ar
(A)v=af
(B) v=A/f
(B) v=a/f
C) v=f/A
©Cv=r/4
I
{[}] V= :1? . |
(D) V=
90. Match List-1 with List-II and sel
- na select the correct 9. @-Iﬂ%?[ﬂ?-llﬁ@ﬁlﬁﬁﬁﬁ{ﬁmﬁ fo T
answer using the code given below-
| &1 T4 Fh T71 IW gfE-
List-| List-[l
a1 11
(Planets of the solar family) (Attribute) =
(®R vfiar & %) (fersramm)
(a) Mercury (i) The closest planet to
4 (a) g9 () g4 =1 e 77
the Sun
(b) Venus ii) The brightest planet in
) (8) Thebrightest p (b) W (if) 1 3 s § T
the night
ey = Tvten ug
(c) Jupiter iii) The largest planet of
) Jup (i) (c) Tewf (iif) BX g v T
the solar system
e
d iv) Highly inclined on its
(d) Uranus (iv) Highly (d) W{?ﬂ?\q} (iv) T 1 S -
axis
EGIE|
e ,
[lﬂ:iM] Page 29 of 48
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Code : F2:
a b c d a b c d
(A)i i iii iv (A)i i ii iv
Byiv i i i ®)iv i i
(C)i iv ii i (C)i iv i ii
(D)ii i iii v (D)ii i ii iv
91. Bleaching powder is not used in which of the | o)  wifsn ey 57 sy frefafas & @ fred =&
following? forra wmen & -
(A) In the purification of water INESERcauk:
(B) To remove permanent hardness of water (B) wrt =1 vt e @ w0t % ferw
(C) As an oxidizing agent in industries (C) Seimii § aiferteror sifireia 5 &9 8
(D) In the bleaching of cotton in the textile industry (D) &2l Faim 3 wurg 3 fatem &
92. Which of the following options is incorrect | 97 e = 3 iy & day § Frerfafaa 3§ 2 2T
regarding the charge of the fundamental particle? foreg Tem B
(A) Alpha particle, +2 (A) 37551 &, 42
(B) Proton, +1 (B) W2, +1
(C) neutron, -2 (C) =R, -2
(D) electron, -1 (D) 3o, -1
93.  Which of the following is a true statement? 03, = o A wg Ty B
(A) All alkalis are bases. (A) Tt &7 & & |
(B) Aqueous solutions of acidic/bases are good (B) 311 91 1R & e forer farem & geme o
conductors of electricity. 3
(C) All alkaline are soluble in water. ©)o e & gEre A ¢
(D) All of these (D) s B
[103M] Page 30 0f 48
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_‘___,...--—— 4
When an acid TEEEW\

o,

s Whih produce o “Z:T:f:; 1; u::uauy o4 e 1 e 68 e
)0, ). g et & =1 979 & (979 <) I et € |
() €O, 0
OH (B) €O,
050, (C)H,
s . (D) SO,
3. ::thte a:: ﬁf::l‘::;a PRIEENtS is true about | 95, ez e 5t A e 4 e e
(A) They have the same crystaljine st P ;
(B) Uniform electrical condyctiyi e (A)ﬁ‘ﬁ e
| - (B) ¥ foreg =i
(C) Same magnetic properties (C) e e e
(D) Equal hybridization of carbop present in them (D)3 Sufeer wrEA F FHF FH
96. Which of the following is a chemical change? |96 Firm ¥ & Tarafys wiade 2-
(i) Setting of cement (i) Tz = e
(ii) Burning of a bulb (ii) = 1 wE
(1i1) Ozone depletion (iii) 3 =1 a7
(iv) Bursting of crackers (iv) Ter@ & forente 2
(A) Only (i) (A) ¥4 (i)
(B) Only (ii) and (iii) (B) %4 (ii) 7 (iii)
(C) Only (i),(iii) and (iv) (C) == (i),(iii) 7 (iv)
(D) (i),(ii), (iii) and (iv) (D) (), (1), (iii) = (iv)
97. It is an element of the chalcogen family. 97. SEISH YRER F1 7 ¥ |
(A) Se (A) Se
(B)Sb P15
©) S (C) $n
O)1 (D)1
Tﬁﬁqﬁ_ Page 31 of 48
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98.  Which gas is produced when baking soda is mixed
with vinegar?

(A)H,
(B)0,
(C) CO,
(D) CO, and H,
99.  Which is a false statement with respect to colloid?
(A) It is a homogeneous mixture,

(B) Their particle size is in the range of Inm to

1000 nm.
(C) It shows Tyndall effect
(D) Milk, clouds, fog, smoke etc. are colloids.

100. Identify the correct representation of the reaction

in chlor-base process-
(A) 2NaCl(?) + 2H,0()) - 2NaOH(/) + CL(g) + H(g)
(B) 2NaCl(aq) + 2H,0(aq) —» 2NaOH(aq) +
Cl(g) +H,(g)
(C)2NaCl(aq) + 2H,0(/) - 2NaOH(aq) +
Cl,(aq) + H,(aq)
(D) 2NaCl(aq) +2H,0(/) -» 2NaOH(aq) + CL(g)
+H,(g)

08, fek % @ @ Wrel FHE W BiFEl 19 I Bl

99.

100,

2

(A)H,

(B)O,

(C) Co,

(D)CO,a H,

FeFS F Tl § e FA R |

(A) 7% T wHt g 2

(B) ¥7% il 1 SR 1nm ¥ 1000nm T # B
2

(C) 7% feved gvma Twid €

(D) 3Y, F1H, HIET, Y3 H1G HITES ¢ |

TR - 4 T & SHMT3AAT & WEl Ja I TeaI -

(A) 2NaCi(h) + 2H,0() — 2NaQH()) + CL(g) + H(g)

(B) 2NaCl(aq) + 2H,0(aq) —» 2NaOH(aq) +
Cl(g) + Hg)

(C)2NaCl(aq) + 2H,0(f) —» 2NaOH(aq) +
Cl(aq) + H,(aq)

(D) 2NaCl(aq) + 2H,0(/) —» 2NaOH(aq) + Cl(g)
+Hy(g)

[103M]
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101

102.

[103M)

——

The figure given represents the human heary LA

= left atrium; RA = right atrium; LV = Joft ventricle:

RV = right ventricle. Here OXygenated blood

(A) Enters RA and exits RV
(B) Enters LA and exits RV,
(C) Enters LV and exits LV,

(D) Enters LA and exits LV,

The end product of the breakdown of glucose in

the absence of oxygen in musele cells.
(A) Ethanol + CO, + Energy

(B) CO, + water + energy

(C) Lactic acid + energy

(D) pyruvate + CO,+ energy

. What are the five steps that will help us in

preventing disease transmission through sanitation

and hygiene?

(A) Fluids, Foods, Fingers, Flies, Fields
(B) Fluids, Fingers, Flies, Fields, Floods
(C) Flies, Fluids, Foods, Floods, Fingers

(D) Fluids, fecal matter, Foods, Fingers, Flies

101.

102.

103.

e mqﬁa@nﬁﬁﬁﬁﬁ%mﬁﬁﬂm

'M=ET’J'T-34T:'-E"3:LV=“=TI'E1'§ BRE ;RV-:EFTE'

] £l - = o | e . r
Bl | GET SHFETATT THIL wereasmareses
RA II LA
_p_!.-'f v

(A) RA 5 i e & R RV S 7 e ¢
(B) LA T w&w & ¢ S RV F e e ¢
(C)LA 3 iy o & & LV 8 9 e €
(D)RA 3 3w o & S LV S A Frea 6|
o A § ST T S 3 T
fazs § 55 e SifaH STE

(A) T + CO,+ 5=

(B) CO,+ =@ + Sl

(C) Gt v + =il

(D) TFEaz + CO,+ &=

3979 ‘Fs’ 71 (F - @0 ) SF 2 € 51 20 Sh-9FE
(Ffie) T& sl (ET5si) 5 I S0 | sa
H HEE i |

(A) "E<E, T5F, fomd, Wy, fheew

(B) wz=s, e, weiw, feesw, wogm

(C) TR, "EEH, Fed, vy, T

(D) weprEH, fra 81, wem, fed, wemds
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104. Occurs in gastric juice.
(A) Trypsin, pepsin and renin
(B) lipase, trypsin and renin
(C) Pepsin, lipase and renin
(D) Trypsin, pepsin and lipase

105. The pituitary hormone by which Sertoli cells are
regulated is called-

(A)LH

(B) FSH

(C)GH

(D) Testosterone

106. How many neurons are involved in the reflex arc

from a sensory to a muscle?
(A) Two

(B) Four

(C) Five

(D) Three

107. Which of the following are found in prokaryotic

cells?

(A) Lysosome
(B) Ribosome
(C) Vacuoles

(D) Mitochondria

104.

105.

106.

107.

oo @ § g ¢

(A) fefe, ¥ 3R I

(B) T, e ok

(C) ¥, i SR 7

(D) e, e o e

et wifvrt fora firged o1 5 Frafi e
R t-

(A)LH

(B) FSH

(C)GH

(D) TR

T e A e YN e whad 99 H fe i
fee 2 87

(A

(B) =r
Ok
(D)

TreTeRan 5§ i wehwm (W) Sifmsi
o g Tt §7?

(A) T
(B) TEarm
(C) e
(D) =it

[103M] Page 34 of 48

Scanned with CamScanner


https://telegram.me/resultrajasthan

10s. Which of the following is (rye about the given | 108 mmmﬁaﬂﬁ%aﬁﬁﬁﬂﬁﬁﬁﬁ YA

pitrogen cycle?
T 27

SN CIRELSGIR
’"W'\ . T

p\_»a-/‘ A\_,-Bj

(A) Ais nitric acid, B is nitrite, and ¢ is ammnnia.l ﬁ}Aﬂ?fé"F o7 &, BT €, aﬂ'{ C st &

(B) Ais ammonia, B is nitrite, and C i nitrate. (B) A @il &, B gTee %, SR C LR |
(C)A is nitrite, B is ammonia, and C is nitrate (C) A 7rg21se %,B apifn &, @ C ’iﬁz'?z g
(D) A is ammonia, B is nitrate, and C IS nitrite. (D) A it % BAmE 8 C TR
109. Which of the following is a true statement? 109, Frefirfia & & Hia G $E € |
** (A) Weil’s disease and jaundice caused by (A) A SRR 3 gR1 e 1 S
Leptospira icterohemorrhagica. T e &1 S @ |
(B) Anorexia nervosa is an eating disorder. | (B) Wk Talel T e = fawr g |
(C) Mental retardation in children. Mineral iodine (C) e ¥ wrifier foeriar @i SATEEH i et
deficiency. Due to this. & RO EAE
D) 3w H‘iﬂ
(D) all of the above . 0) |
i oo 110.@%&@%%%@
110. Select the option that correctly lists the tissues in e tﬁ':" E":' gt m
. ; i ; mmﬁﬁm%mﬂﬁﬁﬁﬁuﬁmﬁ
terms of their ability to provide growing hardiness
eltag e |
to a plant.
(A) SER=hIEH > HieramsaT > S
(A) Sclerenchyma > Collenchyma > Parenchyma
(B) RICHTEH >ﬁ:{7u11'|3m > ﬁ'ﬁi.—m—m
(B) Collenchyma > Parenchyma > Sclerenchyma
hyvma (C} ﬁhﬁﬁm > ﬁﬁﬁ'ﬂ?ﬂ }Im
(C) Parenchyma > Collenchyma > Sclerenchy
(D) SHHHTE > Feahree > Frrprge

(D) Sclerenchyma > Parenchyma ~ Collenchyma

—
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111, 52272=2%x3v x]1*and x, y, zare natural numbers,
then the value of (2x + 3y - z) will be -
(A) 11 (B) 13
(C)17 (D) 15

112, 1f the number 52x3141 is exactly divisible by 3,
then find the bijective of the sum of all the values

of x?
(A)4 (B)5
(C)6 (D)7

V24696
113, is-
V56

(A) Rational (B) Irrational

(C) Even number (D) None of these

114, Find the value of x if 2% = §**! -
(A)2 (B)-1
€6 (D)8

115. Consider the following-
(T) Unit digit of perfect square numbers can never
be 2,3,7,8

(IT) The square root of a perfect square number

112.

113.

114,

115.

111, 52272="2% % 3 x11* Fel x, y, z Yo WEATC € 7l

(2x + 3y — z) F1 T FM-
(A) 1 (B) 13
(C) 17 (D) 15

T 52x3141 7% 3 B qofean fawnfem & &t x & @
W % 4 AT 9 7

(A)4 (B)S
(C)6 (D)7
V2469

T T #-
(A) g (B) =g
(C)¥m g (D) 378 3 =% e
X %1 A 1 Hifag afg 2 =8> 2-
(A)2 (B) -1
€6 (D)8
1w faam #i-

Lo

(1) o1 &7 Femal 1 o =1 5% =1 9 2.3.7.8
Eiifak el

() i o i 5 g ¥ 5 1’;—’ % E)

will have = or “T“ digits,

(A) Only statement I is true (A) *ae F9 | Fo

(B) Only the statement I1is true (B) %o 7 [ ¥

(C) Both the statements I and II are true. (C)Fed 19 11 1 51

(D) Neither statement I nor statement I1 is true (D)7 T | 3R 1 8 %v 11 5
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P Mx ﬁ?_
116. 1f 56 apt  then find the value of Pp-
(A) 16 (B) 28
)7 (D) 14
117. The number of zerges of the polynomial
x* —x~30 is-
(A0
(B)2
(C)5
(D)6

118. For what value of k will the polynomial 2 _ 8x+k

be exactly divisible by (x - 3),
(A)-15

(B)9

(€) 15

(D)-9

119. The pair of linear equationsax+ by +c =0, ax

+ b,y + ¢, = 0 will not have any solution if-

(D) None of these

P _NTBEX VA o -

116, 1fg %= ap
(A) 16 (B) 28

117, 59 1 —x 30 % T H1 HEA -

(A)0
(B)2
(C)5
(D)6

k¥ firg o & faw aEe x2 - 8x + k,x —3 | qofean
favifea grm-

(A)-15
(B)9
(©)15
(D)-9

gt e ax + by +¢, =0, ax+hby+
¢, = 0% %t & feremmm & & afe-

118.

119,

[103Mm)
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120. A quadratic equation whose roots are @ and g | 120. T g e e e o 3 f T a+ f=99
and @+ =9 and ¢’ + £ =189, thenthat quadratic a'+f =189 % 7t =g fgura wHteRw Bt

equation will be-

(A)x*+9x+20=0 (A)x*+9x+20=0
(B) X' - 9x—-20=0 (B)x*—9x—20=0
(C)x*-9x+20=0 (C)x*-9x+20=0
(D) x*+9x-20=0 (D)x*+9x-20=0

121. A factor of x* + 8x is- 121. x*+ 8x &I T IHETE &-
(A) X*+2x +2 (A)x*+2x+2
(B) x*-2x+2 (B) x*-2x+2
(C)x2+2x+4 (C)xt+2x +4
(D) X'-2x+4 (D) x*-2x +4

122, If30% of A is added to 40% of B, we get 80% of | 199 afe A %1 30%, B H140% H SirsA T B 1 80% Wrai
B, what is the percentage B of A? %, B,A o1 fera whirvra 37
(A)30% (B) 40% (A)30% (B) 40%
(C) 70% (D) 75% (C) 70% (D) 75%

123. A seller buys lemons at the rate of 5 in 3 Rupees | 193 e fasa 3. 1 59 X { g wiEm S .18
and then sells them at the rate of 8 in 5 rupees. He WATT M E R IR I8 ®. & % B % 6 =Rt
gets profit Rs, 18 then tell how many lemons he 3 fepen g wlteat 391

bought and sold-
(A) 730 (8)720 (A) 730 (B) 720
(C) 480 (D)560 - (C) 480 (D) 560
. " "? |
124. What is the quartic of 0.12, 0.21, 81 124. 0.12,0.21, 8 1 Squiart #1872
56
(A)8.9 (B) (A)8.9 (B) 56
D) 17
(C) 14 (®) (C) 14 (D) 17
103M] Page 38 of 48 i
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125. The simpleinterest of Rs. 2500 for 219 days a1 1o
rate of 5 percent per annum wij| be

(A)80 Rs.
(B) 250 Rs.
(C) 75 Rs.

(D) 200 Rs,

126. What sum of money will be to Rs 1352 in 2 years
at 4% per annum compound interest?

(A) Rs 1200
(B) Rs 1225
(C) Rs 1250
(D) Rs 1300

127. Adjacent angles which are a linear pair are.

(A) £QOS and ZSOT
(B) £SOT and £TOP
(C) £TOP and ZPOR

(D) 2QOR and ZPOR

125,

126.

1smﬁ.w5gﬁwmaﬁ$ﬂ%ﬁ%219mﬂmm
= B7

(A)80 .

(B) 250 &.

(C) 75 .

(D) 200 .
it sty 2 @6l 4 wfem s ThYE =

F A 1352 A 8 CM?
(A) 1200
(B) 1225 ¥
(C) 1250 ¥
(D) 1300 13

127. 3= S s g g

R
N i

g Ea

T

(A) ZQO0S 7 £80T
(B) £80T 9 £TOP
(C) £TOP 3 ZPOR

(D) ZQORT LPOR

[103p)
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I28. The sum of all the interior angles of a regular
polygon is three times the sum of its exterior

angles, then the number of sides of the polygon

will be
(A) 6 (B) S
(€) 10 (D) 12

129. Figure ] U S T is a parallelogram. If OT = 20,
OU =y +7and OJ = 16, 0S = x +y then, what

will be the value of x and y?

x+y

(A)x=3,y=13
(B)x=13,y=3
C)x=7,y=10
(D)x=5y=13
130. The difference between the circumference and

radius of a circle is 37 cm. what is the diameter of

the circle-

128, foret T & @ 3f: O A,

e i 3 e o AT O €, T TG 1 e
Gk e kit

(A) 6 (B) 8

(C) 10 (D) 12

129, wﬁJUSTmﬁmﬂgﬁa%mﬁosz
QU=y+73@0J=16,08=x+y&aq xay=

T 1 B

(A)x=3,y=13
(B)x=13,y=3
C)x=T7,y=10
(D)x=5y=13 l

130. Tt g9 =1 ofify @ e & Fa w1 o 37900 3
T4 Y §-

(A) 14 cm (B) 28 cm
(A) 14 %, (B) 28 ¥,
(C) 42 cm (D) 56 cm
(C) 42 =, (D) 56 &,
[103M] Page 40 of 43 ST
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31, 1f triangles ABC ang DEF haye AB_BC
DE " Fp - then

they are similar, if -
(A) £B=ZE
(B) ZA=4D
(C) £B=4D
(D) £ZA=/F
132. Ifa,

b,c are the sides of 3 right triangle, of which ¢
is the hypotenuse and r i the radius of the circle

which touches the sides of this triangle, then the

. AB_BC
131, afk fiye ABC 3iRDEF & 7= &, 13 ey

g, o
(A) ZB=ZE
(B) £A=4£D
(C) £B=4D
(D) £A=LF
7f% a,b,c firelt we favs & ot ®, fad | ¢
o & | e 3 g @ e §, 0 58 fe ot v

value of r will be- 2 el G & 79 ¢ 1 HA §-
a+b-c a+b-c
(A) — (&) —
a+b+c a+b+c
®) 5 :
¢c-a-b c-a-b
5 @5
a+c-b a+c-b
(D) (D) ]

133. In the given figure, O is center of circle, 133. e ma fea a2 0 99 W F=, LAOB=90° 3R
/AOB=90° and ZABC=30° then ZCAO is £ABC=30°" } 17 LCAQ T -
equal to-

A) 30° o
(A) 30° () (B) 45
(C) 90° o
{C) 0(° {D) 60
“m‘“} » . Illtage 41 of 48
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134, The surface area of a sphere of radius 5 cm. is | 134, 5 Wit. fien 9t ©& et T T SAwa 4 3,
5 times then the curved surface area of a cone of e ot w Vi & Syt dawe @ v T
radius 4 cm. The height of the cone will be- VF HI Far grit-

(A)3 cm. (A)3 9t
(B)4 cm. (B) 4 @,
(C) 5 em. (C) 5 &,
(D) 7 cm. (D) 7 9,
135. A circle of maximum size is cut out of a square | 135, T FienT ¥ive & srfereem g 1 O g9 SR f
sheet, after thata square of maximum size is cut o # 59 AR 79§ Y sy =79 = U o
out of this circle, what will be the area of the final w12 for s ¢ sifsm ool =1 ehree = wm?
square?
. .

(A) 7 of original square (A) i i
I s

(B) 7 of original square (B) wrifi a1 =1 ;—i—
]

(C) 5 of original square () Wi w21

g

(D) 3 of original square (D)Hﬁﬁﬁﬁﬁ‘ﬂ%

136. Two dice aIE'thm'ﬁr.n. simuitahadusly. What is the 136. 2 T B T e S o # | Teat w wivwa
probability that the sum of the numbers on both
the dice is one - i fefs <1 vl 2 ot e w8 A w2

! ' L
(4) 5 W3
5 2
®) 5 ® 1
(€0 (€0
(D) None of these (D) T B Tl
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137. The following poings Were scoreq

team in a series of Matches:
17,2,7,27,25,5,14 18,10

The median and mode for these ¢

ata will be
respectively-

137, Freht ez ol 219 G 71 01 O e | fffan
wizz aifen fg T ¢
17,2,7,21,25,5,14,1 8,10,24,48,10,8,7,10,28

o1 ariee) o foru MR A AT F: T

(A) 12,10 o
(810,12 (B) 10, 12
© 15,20 (C) 15,20
(B}15:10 (D) 15, 10
138. The total CO, emissions from different sectors are | 138, fafi= &1 | ga Co, e Smmt & A1 o
Smmt. The percentage contribytion of CO, mr§-=é ¥ fafe=t & | CO, T ¥ Wi v
emissions from different sectors is indicated in the Arrer ¥ feman T T |
pie-chart below.
What is the total CO, emissions from the domestic TR B & § T co, T fRaT 7
sector? -
Thermal Energy :
35% Domestic
Sector | /15% Sector T St &7 ° A 5o i &
Transport 20% : -
Quctie 30% Cmsmnermal iy 30% 20%
ector e ey, Fiftfegs &3
(A) 1.75 mmt (B) 1.5 mmt (A) 1.75 mmt (B) 1.5 mmt
(C) 0.75 mmt (D) 2.5 mmt (C) 0.75 mmt (D) 2.5 mmt
139. Ifthe radius of a cylinder is doubled and the Neight | 130 4t s s 2 oy it ot o s o
is halved, then its curved surface area will be- 3 T, A T T TS S BhT-
(A) Half (B) Double (A) 3mn (B) T
(C) Same (D) faurrnmes _ (C) mm (D) SR
—_— -Page 43 of 48 y
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140. Which of the following represents the number 8 | 140, firem fedi = swdtn @ gy Frefaran 39
using tally marks? T 8 i Wefia w -

-:m@ | o

® NN ®N N
OM || O ||
OMN || O] ||

141. When there is stability in the correct assessment | 141. & arer =1 wdten B AT % A o el e

of the ability of the child as measured by the test, ¥ waife o &, 76 SR e H.o....,., BE E
then it is called ..........

(A) Validity (A) Bt
(B) Reliability (B) farvarertamn
(C) objectivity (C) w=gfma
(D) none (D) = et
142. Not necessary for remedial teaching? 142, 37RO fnerm & fou stevas 728 82
(A) To keep the teaching method permanent (A) Torem fafyy =) wardt @
(B) not to ignore any mistake of the student (B) farenet =t ferft oft Treret =t ﬂﬂ%ﬂ I HE
(C) first carrying out diagnostic tests (C) wet Fremmee wier w5 f#n
(D) none of these (D) 7 & ¢ 7
143. A test in which the answer is yes or no 143, T vt fored se el o1 7 & ) -
(A) anecdotal (A) TrFelea
(B) checklist (B) e el
(C) Rating scale (C) fenwhm
- (D) observation ' (D) V&
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Which 1s not a prq;
o Projecteq teaching learnin
material- g

(A) Bulletin board

solving method?

144, S fneFol eTh QT 6 ST T #-

H‘i‘g
(B) Epidoscope » RrEReT
(C) Slides -
. C) wmaEd
(D) Magic Lantern -
| | (D) B A
143. Which one is not relateq to the pre : r g ST/ ATy
Paration step of | 145, & 1 YaTEA T8 W 3
Herbert's lesson plan 7
Tt &l 87
A) To check the previ i
( previous knowledge of the spydent (A) forenedf & 7 7 =t W19 T
(B) To establish relation of ney, knowledge with (B) elt? T =1 I FaY T FE
previous knowledge
(C) To generate curiosity through new experiments (C) =7t wami = femanati gro fommen sea=1 e
or activities
(D) Comparison between previous knowledge and (D) 3@ ¥ & el 31 # qer Hen
new knowledge
146. What is the correct sequence of steps in problem | 146. e waa fafs % <o 1 Wdt m &2

1. Problem selection 1. GHE T 9

2. Presentation 2. TR

3. Hypothesis Formulation 3. S famim

4. Data Analysis 4, Iwsl w1 Taveram

5. Conclusion 5. Frepd

6. Collection of Data 6. STeHT I HE

(A)6-123-4-5  (B) 123465 (A)6-1-2:3-45  (B)1234:6:5

(€)1-2-3-64-5  (D)2-1-3-465 (€} 123645 (D)2-1-3-4-6-5
ﬁ‘g,;ﬁ — Pagb 450148
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147. Which of the following is the second step in cone
of experience from base of the cone’
(A) Verbal symbol
(B) Visual symbol
(C) Contrived Experiences
(D) Real Direct Experiences
148. Which of the following is not a characteristic of
constructivist learning?
(A) Learning is an active process.
(B) The teacher act as a controller.
(C) Leamners construct new knowledge on the basis
of prior knowledge.
(D) Learning is subjective, in which the opinion
of each learner is based on his personal experience.

149, What is the correct sequence of steps of induction
method?
(A) Example, observation, verification, generalization
(B) Example, generalization, observation, verification
(C) Example, observation, generalization, verification

(D) Example, verification, observation, generalization

147, frufafaa 4 | @ s v & Bﬂmﬁmﬁ
iy #2
(A) T it
e
(C) Fraifirm Ffim orgm
(D) arefam e s
148, Frm & & Tarard) sifirm <6t o e &2

(A) stfimr o wfia Wi &
(B) foreseh o sifivp el 1 &1 1
(C) foenel qd 91 % enur ®7u 317 =1 Frwfo o
Y
(D) srfim saferaer et &, Fored vl aifbrea
1 T S AT NS T ST el €
149, s fafYy & el 1 we w82

(A) Terevl, Fiteqmn, e, G

(B) mmmmﬁﬂmwm
(C) Sere™, fediegor, TrT=iiestl, Weare
(D) erew, T, frdiem, mrmm

[103M]
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150. The wrong statement regarding the ap lysi
alysis

method is-
(A) It is an action centered methog

(B) Use of 'Known to Unknoyyy teaching formuy|
ula,

(C) Synthesis method is yseq after analysis

(D) none of the above.

(B) ‘& s’ g G A
oy Mt

i~
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